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Piece B



Piece C

Total = 117


   Total = 215

   Total = 75 

Pieces D and E


  

                      
has the same total as                       when the shaded squares overlap                            

Piece F in any orientation, including being flipped over





Total = 99
Can you find any other solutions
Piece G
Piece G has a total of 64 and is made up by covering 4 squares. What could the piece look like and where is it placed?
The number square on the left has jigsaw pieces that cover it and the total of the covered square is added up. 





The aim of these questions is to work out where the different shaped pieces have been placed.





Unless otherwise specified the pieces are placed in the given orientation.








